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[ # % 1] 100.0 3,001 2, 628 100.0 3, 089 2,711 100.0 3,118 2, 856
[ & & o 3 ] 45. 4 1,363 1, 250 43.8 1,352 1,219 49. 4 1, 540 1, 456
] i — i 14. 2 4217 394 10.3 317 279 8.0 251 231
= Bt i 6.5 194 175 7.3 225 209 9.2 288 276
fx & i 3.2 95 87 3.0 93 86 3.8 117 115
ot £ 7K b 1.2 37 32 2.1 65 58 1.3 41 39
% ik i 3.7 111 102 3.9 119 111 4.3 133 129
R B E & 4.1 124 120 5.6 173 163 7.8 243 226
HOR OB A 7.4 223 203 6.7 207 187 9.2 287 274
O G L7/ 2.2 66 65 2.0 63 58 2.4 75 74
T - By - AR 2.7 80 67 2.6 79 59 3.2 99 87
tt D [} i 0.2 6 5 0.3 11 9 0.2 6 5
[ # B o 3 ] 50.0 1, 499 1,329 51.7 1,597 1,445 47.0 1, 464 1, 347
7 Uy - = v 7 0.4 13 13 0.2 6 6 0.3 10 9
Ly E LY — 2. EilE 5.7 171 155 5.5 169 157 5.9 185 175
TH « 2% - 1T 3.2 95 84 2.6 81 70 3.1 96 89
& ® - # & 0.5 16 15 1.0 30 29 1.4 42 37
(= SR S 4 0.1 2 2 0.1 4 4 0.2 7 7
% % — B 0.2 6 6 0.4 11 9 0.4 11 11
SR R — B X 8.8 264 236 7.0 216 197 6.1 189 172
g - WEY—BE X 18.1 543 523 16.0 494 471 17.6 549 525
#H F VY — v A 0.4 11 9 0.3 11 9 0.8 26 24
BE BB —E R 2.3 70 65 2.7 83 79 1.6 50 46
fRE - Rk — e 2 3.7 111 87 8.8 271 231 3.9 121 110
s ) 1% % 4.4 131 117 5.2 160 145 4.3 135 125
Nk - Bl - Tk 0.3 10 9 1.0 32 31 0.2 5 5
fih @ 47 Bt  — v A 1.9 56 8 0.9 29 7 1.2 38 12
[ 2 o fit o F ] 4.6 139 49 4.5 140 47 3.6 114 53
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